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Codle Mol 7

i) This section consists of 20 part questions and all are to be answered:| rite this Code No. in the Answerscript.
Each question carries one mark.

i) Do not copy the part questions in your answerbook. Write only the answer in full against the proper
number of the question and its part.

iii) The code of your question paper is to be written in bold letters in the beginning of the answerscript.

iv) The use of calculator is allowed. All notations are used in their usual meanings.

1. Choose the correct answer for each from the given options:

i)

i)

Vi)

vii)

viii)

iX)

X)

Xi)

tan™ tan(-1) =:

If z=3+4ithen z+2=
* 8| * @ * 0 *

If z= a,b isacomplex numberthen z =:

* a,-b * -a,b *

If 1 is imaginary number then i’ =:

* Iz' * i * 1

If @ isacomplex cube roots of unity then o' =

* O * 1 * ) *

If the roots of the equation pX2 + QX+ r =0 are imaginary then q2 —4pr is:

* zero * less than zero * greater than zero

3 1
* * £ * 1 * -
2 2
>n?=:
. nn-1 . nn+l’ . n n+l nn+l 2n+1
2 4 2 6
(7
sinf ——@ |=:
2
* * —siné * sing * —cos6
1 2 5 s
* Diagonal matrix * Scalar matrix ~ * Column matrix *
7T is alan:
* Natural number * Integer * Rational number * llrrational number]
a,blicd =
* ac+bd,ad +bc * ac—bd,ad —bc
* ac—bhd,ad +bc * ac+bd,ad —bc

* perfect square

Continued on the next page.............



xii)

xiii)

Xiv)

XV)

XVi)

XVii)

XViii)

Xix)

XX)

Coake \ogll=1 7

Write this Code No. in the Answerscript.

2 0
is a/an:
s 3

* Rectangular Matrix ~ * Scalar Matrix ~ * IDiagonal Matrix* Unit Matrix

If a die and a coin are tossed simultaneously then the probability of getting two heads is:

1 1
* —_ * —_ * |§| * 1
3 2
The number of ways in which 7 girls can be seated around a round table is:
* 6 * * 7 * 7[
If 42 =64 then X is equal to:
* 2 * 0 * * 3

If the order of two matrices A and B is mxn and nx p respectively, then the order of matrix AB is:

* pxm * nxp * pxn * mxp

3 a
If {2 8} is a singular matrix, then the value of ‘@’ is:

1
* 10 * * 12 * i
12
1 2n
The middle term in the expansion of (Xz +—J is:
X
* 2n+1" term * n+1" term * 2n+2 " term * n+2 " term
2r .
? radians in degrees is equal to:
x 60° x 90° x x 150°

If the sides of a triangle are 5, 6 and 7 units, then 2s is equal to:
* 6 units * 9 units * * 27 units



